versione 0
Equazioni differenziali — 0

Simplify[DSolve[{4y''[x] +y'[x] ==2x+3, y[4] =1, y'[4] =6},
y[x], x]]

yIx] > 17-12e" 5 - 5x+ %’
H )

Funzioni di due variabili, punti critici — 0

4t
glt_, y_] := i £lx_, y_] :=g[%*, v]i £[%, ¥]
4y-5
4 x?
-5+4y

f1[y_] :=g[l-y?, y]; Together[£f1[y]]
4(—1+yﬂ
Together[fl'[y]]

8 (2-5y+2y?)
Solve[fl'[y] =0, y]
1
(b2} oo}
£2[y_] :=g[1-y*-2y, y]; Together[£2[y]]
4 (-1+2y+y?)

-5+4y

Together [£2 ' [y]]

8 (—3—5y+2y2)

(-5+4y)2
Solve[f2'[y] =0, y]

1

o2} wos)
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aa = ParametricPlot[{Cos[t], Sin[t]}, {t, 0, Pi}];
ab = ParametricPlot[{VZ Cos[t], -1++2 Sin[t]}, (t, Pi/4, 3Pi/ 4}] ;

Show[aa, ab]

L L L L Il L
-1.0 -0.5

Simplify[{fl[O], £1[1/2], fz[«/?- 1]}]
4

(o)
Integrale doppio — 0

Plot[{6, 3x}, {x, -.3, 2.2}, AspectRatio » Automatic]




3L
2
1L
T T T T
05 1.0 1.5 20
—1L
X
flx_, y_] := i
y+2

y/3
Simplify[{J~ f[x, y] dx,
(]

y/3
JJ f[x, y] dxdy,
1]
y/3
fj £[x, y] axdy}]
0 Jo
2

y 1
— (-12-4y+y*+8Log[2+Y]),

1
{7, 7(3+Log[16])}
18 (2+y) 36 9

ch.ind.2014.06.17.nb

|3
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X
flx_, y_] := i
y+3
6
Assuming[y € Reals &&y > 0 && x € Reals && x > 0 && x < 2, simplify[{.r
3x

jrf[x, yl dydx,
3x

2 6
Jo fo[x, y]l dy dlx}]]

3 1
}, R
1+x 4

{xLog{ —1+x+2(1+x)Log{

1+x

Numero complesso — 0

2= z=-V2 +V2 4; Print[{Abs[z], Arg[z]}]; Print[z"~9]
37

{2, 7}
(-256 + 256 1) \/?

Matrice, autovalori... -0

3 0 -1
In[3l= a = [ 0 2 O ]; Print[{Eigenvalues[a], Eigenvectors[a]}]
-3 0 1

({4, 2, 0}, {{-1, 0,1}, {0, 1, 0}, {1, 0, 3}}}

versione 1
Equazioni differenziali — 0

Simplify[DSolve[{4y' "[x] +y[x] =2%x*+3, y[n] =1, y'[nx] = 6},
vIx], x]]

Hy[x] 1342244 (=342 ) cOs[; 2 (2740 sin[z]}}

Funzioni di due variabili, punti critici — 0

4t
glt_, y_] := i £lx_, v_] :=g[%?, y]; £[x, v]
4y-5
4 x?
-5+4y

£1[y_] :=g[1-y?, y]; Together[f1[y]]
4 (-1+y?)

-5+4y

Together[fl'[y]]
8 (2-5y+2y?)

(—5+4y)2

Solve[fl'([y] =0, y]

{fr= "} w-2)

f[x, y] dy,
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f2[y_] := g[l—y2 -2y, y]; Together[f2[y]]
4 (-1+2y+y?)

-5+4y

Together[f2 ' [y]]

8 (-3-5y+2y?)

(-5+4y)?2

Solve[f2 '[y] =0, y]

{fr=-"} v}

aa = ParametricPlot[{Cos[t], Sin[t]}, {t, O, -Pi}];
ab = ParametricPlot[{'\/ 2 Cos[t], -1+V2 Sin[t]}, {t,3Pi/ 4, 9Pi/ 4}] ;

Show[ab, aa]

Simplify[{fl[O], £2[-1/2], fz[-ﬁ-l]}]
4

(5ol
Integrale doppio — 0

Plot[{6, 3 x}, {x, -.3, 2.2}, AspectRatio -» Automatic]
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0.5 1.0 15 20

y
flx_, y_] := i
X+ 3

6
Assuming[y € Reals &&y > 0, Simplify[{J f[x, y] dy,
3

jfef[x, yl dydx,
3x

2 6
JO J;xf[x, y]l dy dlx}]]

9 (-4+x?) 9 25
{77, -~ (-27-6x+x*+10Log(3+x]), 9 (2—9ArcCoth[4] +Log[—] }
2 (3 +x) 4 9

Y
flx_,y_] := H
x+3

y/3
Assuming[y € Reals &&y > 0, Simplify[{j f[x, y] dx,
(]

y/3
jj f[x, y] dxdy,
[}
6 ~y/3
f[x, dxd
J;L [x, y] dx y}]]

9+y

[res]

},2<9+y> (27—y+2(—9+y)Log[9+y”, 15 > }

5 18—7Log[§}

Numero complesso — 0
2= z=-V2 +V2 i; Print[{Abs[z], Arg[z]}]; Print[z"~9]
Matrice, autovalori... — 0

-4 0 -1
In[4]= a = [ 0 2 O ]; Print[{Eigenvalues[a], Eigenvectors[a]}]
4 0 1

{{-3, 2,0}, {{-1,0, 1}, {0, 1,0}, {-1,0,4}}}



